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demeaned form 3,7

\1=a+ﬁ)§+y§+g (15A.1)
Y=a+pfX+)Z+e (15A.2)
(15A.1) (15A.2)
Y-Y=p(X-X)+7(Z-2Z)+(s-¢)
y=px+z+é (15A.3)
(15A.3) Y  demeaned form
OLS (15A3) B
§=px+7z
SSE= 3 (v~ - 72)°
= Yxy =AY X2+ 7Y xz (15A.4)
P
isfzo Y7y =By xz+7y 2 (15A.5)

(15A.4) (15A5) A7

j- Txyy2* - ¥ %2y 7y . Txyyxz-yx*yzy
XY - (X x2)? XYz - (X x2)?

~ ZZZ 2 ~ sz 2
V = \V =
D=ssz o’ "V sz oo

(16A3) f
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,3=ZXZZZZI_(ZXZ)Z[ZZZZX(ﬁx+72+g’)—2szz(ﬁx+yz+g’)]

:ZXZZzzl—(ZXZ)Z[ﬂzxzzzz+7ZXZZZZ+ZZZZX€'—5(ZXZ)2]
— Y xzy 2? -y xzy ze'
) 2x22z21—(2xz)2 [AIZX*E2* - (2x2)*]+ £ 22T xs' ~ £ x23 z¢]
Y722y xe - Y. x> z

=B+ szzjz—(Zﬂ)zg (16A6)
(15A.6) B« P Vi

B

~ > 2%y xe = Y. X235 z¢
E(B)=p+H Sy 2 (5 x2)?
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XY - (Ex2)
. 1

Yy 2 - (X x2)?

(3 s B gy g ETEXE-EXE 2z
V(B) =[E(B)-E(B)>=E(B-pB)* =E
(B)=[ER)-EPN ~EG-p)" - B 2500

]

SE[X Y xe -3 Xz z¢]

0+0)=p

1
Yy -(Ex)?
E[(XZ°)*(Zxe)? +(Zx2)* (L ze)? - 22 22 Xz xe Y. z¢]
1
T3y - (2x)
-20%Y 7% (L x2)°]
1
T3y - (2
ZZZO'Z

T YKy - (T x)?

[o?Lx*(22°)* + o (T x2)’ L 2

AR ANTXY - (I x2)?]

E[(X 2%)*(Z xe)] = (X 2%)*E[(T x¢)]

= (X222 E[(Fef +A +Xel)] = (2 2°) 2o’y x?

a~N(a,02) 7~ N(J/vo'y?)
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> x°

7= szzzz—(ZXZ)z]

Z(V-Y) =%§*=T(y-e)=Xfy-3 e
=X W=2(fx+72) y=BEXY+7X2y
( L¥e=X(fx+z)e=Brxe+7yze=0)
g =+ 72
Y=6+pX+7Z Y=a+pX+iZ
Y-Y=§=B(X-X)+7Z-2Z)=px+7z
>xe=0 > z=0

y=/x+iz+e Ixy=pEx+7Yxz+Yxe

(15A.4) >xe=0 >ze=0
Séxe
Oy =— 5 (Y-¥) =— 1 [5Y2-5V?]
P2 k-1 T n-k-1
_ 1 2 VN _ @] L 2 oW vV
= Y7 IV -] = XY’ - XYW -3V
:n_i_l[zvhzv(&u}wz)] ®Ye=0
IV -GYY - fEXY-7E2Y]
@Sy =— (Y- )’ = —— [T y? -3 §7]
Kz k-1 n-k-1
1 R 2 e s
- Sy Ty -] = — [Ty -T2 5]
1 . ]
= Y -IV(x+2)] ©%e=0
1 . )
=Y A -7E
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I::MSF
MSE
X
X;=1 A X, =0 X,=1 B X, =0
Y=a+ X, +pX,+¢& E(Y [ X)=a+ pX; + X,
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